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, ¢ (a) Choose the correct answer : 1x4=4
iy A f3ore s oy B v oms 4 11 :

(i} Prime cost includes :
(1) Direct material + Direct Scc&, .
* Sonwm expenses
{2) U:.nﬁ material + Direct Ecocn
+ me:,mnmzo expenses

: (3) Direct material + Direct EcoE,
Bl Omxom expenses :
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i (3)
i) Purcha ould Dbe . . jos
® se  budget sh 2. Write short notes on (any fourn : 4»4=16
prepared by the § ¢ ;
: ! a) Techniques of costing
(1) Financial Manager fa) 4
. C analysis
(2) Production Manager : (b) ABC analy
i lan
(3) Purchase Manager (c) Rowan premium bonus p
(d) Manufacturing overheads
(i) De iation i
! Breciation is & : {e) Abnormal process loss
(1) fixed expense ¢
(2) variable expense 3. (a) Discuss in detail the advantages and
(3) semi-variable expense m limitations of Cost Accounting. 8+6=14
M or
(iv) In process costing, the abnormal
fosssis treateéd as o (b) Following data are taken from the Cost
1 : Accounts of a manufacturer in respect of
)% period cost | the month of March 2019 :
), vt cost Stock in hand on 1st March, 2019 : 7
(3) future cost : Raw materials 25,000
A Work-in-progress 8,220
(b) Fill in the blanks : 1x4=4 ; Finished goods 17,360
: Purchases of raw materials 21,900
(i) Fixed cost per unit _____ with rise . Sale of finished goods 72,310
in output. Direct wages 17,150
. ; Stock in hand on 31st March, 2019 :
(i) Re-order quantity may be measured tes s mTaterinls 26,250
m Work-in-progress 9,100
: inished d
{iii) Fixed overhead costis a cost. Finished goocs 15,750
: Non-productive wages 230
(iv) The need of reconciliation arises in Works expenses 8,430
accounting system. Office and administrative expenses 3,160
Selling and distribution expenses 4,210
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Prepare a Statement of Cost and Profit
showing the following :

(i) Cost of materials consumed
(i) Prime cost

(i) Works cost

{iv) Cost of production

(v) Cost of goods sold

\S.\, Cost of sales
(vii) Profit for the month

4. {a) A statement of materials received and
issued in March 2019 is given below :

March 1 Opening stock of materials 4400 units
@ ¥ 8 per unit
” 5 Purchased 550 units @ ¥ 10 per unit
% 8 Issued 2200 units
” 10 Purchased 6600 units @ ¥ 12 per unit
» 16 Issued 4400 units
" » 20 Issued 1100 units
» 23 Issued 2200 units
» 27 Purchased 4950 units @ ¥ 11 per unit
» - 31 Issued 3300 units

From the above mﬁmﬁoaozr prepare
Stores Ledger by applying—

(i} First-in-first-out method;

() Last-in-first-out method.
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5. (a)
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(i) What is idle time? What &

causes?

12 hours 0

i) A worker takes
E 5 ges and

complete a work on daily w2
eme of payment by
results. Worker’s daily rate is 6
The cost of material of the
d the overheads

of the total

8 hours on a sch

per hour.
product is ¥ 20 an
are recovered at 200%

wages.

Calculate the Factory Works Cost of

the product under—

(1) Rowan plan;

(2) Halsey scheme. 4+4=8

Define overhead. How are overheads
classified? Explain four reasons of over-
absorption and underabsorption of

overheads. 4+5+5=14
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or !
(b) From the following information, work ocm o F
the production hour rate of recovery © i £
overhead in departments B, P, and e |
Particulars ~ Total Production Departments  Service
Departments m
& 100 |
Rent @) 1,000 200 400 150 150
Electricity @) 200 50 80 30 20 . 20. @
Fire insurance @ 400 80 160 60 60 =80
Plant 4,000 1,000 1,500 1,000 300 200
depreciation (€}
Transport ) 400 50 50 50 100 150
Estimated —— 1000 2500 1800 P wow
working hours

Expenses of service departments S, and
S, are apportioned as under :
BB B35

S, 30% 40% 20%

Sy 10% 20% 50% 20%

Sa
10%

(i What is process costing? What are
its features? Name any three
industries in which process costing
is used. 2+5+3=10

Distinguish ~ between normal =
process loss and abnormal process
loss. ; o

6. : {a)

R TR A

(7)

Or

(b) A company’s Trading and Profit & Loss
Account was as follows :

© ®

Purchases 25,210  Sales {50000 units
Direct wages 10,500 at & 1:50 each) 75,000
Works expenses 12,130  Discount received 260
Selling expenses 7,100  Profit on sale of
Administrative land 2,340

expenses 5,340  Closing stock 4,080
Depreciation 1,100
Net profit 20,300

81,680 81,680

The profit as per Cost Accounts was only
¥ 19,770. Reconcile the financial and
cost profits wusing the following

information : 14

(i) Cost accounts value of closing stock
¥ 4,280

(i) The works expenses in the Cost
Accounts were taken as 100% of
direct wages

(iii) Selling and administration
expenses were charged in the Cost
Accounts at 10% of sales and # 0-10
per unit respectively

{iv) Depreciation in the Cost Accounts
was ¥ 800
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( Old Course )
Full Marks : 80
Pass Marks : 32

2. Write on.the following (any foun; : Axh=16

(a) Elements of cost

1. (@) Fill in the blanks :
U

.w (b) Scope of Cost Accounting
is defined as ‘the 8&555.,
and process of mwoonBEzm Costs’ ,

@ A _ vaoSmam a complete 88&
: of all materials received and go “
~quantity thereof.

(i) The rate of change in the

_ooBvomEon of labour force in an
owmmb_nmcob is termed as s

() ABC analysis

(d) Apportionment of overheads

(e) Cost audit

() Cost sheet

(iv) is the aggregate of 5&33 :

material, indirect labour and

3. (a) Prepare a Cost Sheet from the following : 11

5&33 nxvozmmm ¢
. Sales 8,00,000
«E Oroomo mba write n,ﬁ ooS.oOn mbméo_.m, S T 40,000
i 3 Cﬂmn Oom.ubm\.uc‘u , Material 31.12.2018 : 32,000
Work-in-progress 1.1.2018 55,000
Work-in-progress 31.12.2018 72,000
Finished goods 1.1.2018 64,000
Finished goods 31.12.2018 1,51,000
Materials purchased 1,52,000
Direct labour 1,45,000
¢ Manufacturing overheads : 1,08,000
Selling expenses mo.og
General office expenses : 40,600
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: | o b
: 5. (a) From the following nto&wB, woﬁam o
«E UuwcnmEms between the mozos.ﬁm m+m required to work out th€ .wmu.a:gm
(i) Direct cost and 5&32 cost - , worker for a week under— 5 e

@ Exoa cost and <E.5_u~m cost

(i) straight piece rate;

(a) XYZ ra manufactures a ?.o&:on .» mba ; e
scheme (50%

4.
vnos%m you the mo__oSSm ﬁmnﬁo&mnm 4 (ii) Halsey premium
Cost of placing on order #og sharing);
Annual carrying cost per unit i Ehogy
Nopndl AR B unes po éomw : (iii) Rowan premium scheme : 3+4+4=11
Minimum usage 25 units per week
Maximum usage 75 units per inow .
Re-order period 4 to 6 weeks
pe ioornu Weekly working hours =
Compute from the above :
P Hourly wage rate £
¥ 300

(i) Re-order quantity
(i) Re- S.nnn level

Piece rate per unit

Normal time taken per unit 24 minutes

«E\ Minimum _o,i
120 units

(iv) Maximum —o<o~ Normal output per week
) Average mﬁoox _asa

Actual output per week 150 units

(b) Explain the Boménm ﬁa ‘ Or
wo:ni:gm documents :
) Purchase ?.x?&&aH
@ m§ Card _

E mszm r&mﬂ

(b) What is idle time? Explain its causes.
How is idle time treated in Cost
Accounts? : 3+4+4=11
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6. (a) Compute the machin

the following data :

te frop ;
gt 33 7. (a) A product of XYZ Ltd. Co. possesses

through two processes A and m 10000
units at a cost of & 1-10 were issued 0
process A. Other direct expenses were a8

. 10,00 s follows :
Cost of machine o »
3 P =l Process—
Installation charges Particulars Process—A
2,000
Scrap value after 10 years Sundry materials & 2,000 v
St ot slup pey minc . 5 08 Direct labour # 4,500 ¢ 8,000
t ’
General lighting for the shop per MOF : # 1.500 £ 1,500
i L s 9,000 Direct expenses ’
nsurance for the machine p-a-
9120
10,000 Output (units) 9000

Repairs p.a.

Power consumption 10 units per hour e

Wastage of process A wa
process B 4%. Wastage of process A was
sold at 0-25 per unit and that of process
B at 0-50 per unit. Overhead charges

were 160% of direct labour.

and average rate of power per unit
Shop supervisor’s salary p.m.
Estimated working hours p.a.

Prepare Process—A A/c and Process—B

ety 11
The machine occupies one-fourth o Alc.
area of the shop. Supervisor
one-third of his time for the or
: f
o (b} i) Explain the special features O
(b) What are the causes of ur contract costing. ’

s St ~
and o<2,mvmo€n.on. om.‘_o.ﬁow# (i) How does cost audit differ 10 ;
M:: you deal S:& financial audit?

ccounts? ( Turn Quer }
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i) R et 7d o R ey
1% T SifA A | . 3. E%aﬁwﬂﬁﬁ@ﬁ@%@«mﬂmﬁ
i) o6 wvme @ e AT o _ I 11
_ wnIm 4
(iv) 2'F ACErE T, AT AW feg 8,00,000
AT 9 I | 3 51 T 1.1.2018 40,000
(b) % SaCH A o i 51 AR 31.12.2018 32,000
. x4=4 § .
i)« e ST W S obh . : oropef I 979 1.1.2018 55,000
afi / wq FB A W | : ey F AW 31.12.2018 72,000
o f5q el T S : : TS YR 31.12.2018 1,51,000
! : (IO A T 5
(iii) Tt Fel xﬁﬁ@@a\%ﬁ@a A
oy Tgf 1,45,000
(iv) M“Mﬂ T = = ofs a7 Teo Tof 7 1,08,000
IR A/ I | 5%
/ o & 50,000
2. R Py R f (f G %ﬂ SR IREE I 40,000
(@ azu,fmz e EE
(b) W fEeR Afm (b) wod frarcard e fora 6+5=11
() ABCRoms (i) oFPF I AF LI T
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4. ([0 XYZ @m@ﬁ W eopfie @ AT ATS BHS (ifl) 4'qa tafaura Al . %
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(i) f3-oroR B . . g AT (FL
(i) T B . :
wrs CHfo= o 10,00,000
A5 SR %45 1,00,000
10 3R Pres @t s@eT 370 50,000
ofs W23 FF =9 10,000
cfoeq of 278 I 9,000
ofS 3277 (Fafe 10,000
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